Sociology 601
Homework assignment 2: out 9/12/08, due 9/17/08
SOCY GRAD: GET YOUR “INTERESTS” WEB PAGE DESCRIPTION TO NATHAN (njurgenson@socy.umd.edu )
Agresti and Finlay, Chapter 4:
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Chapter 5: pages 145-153 (do by hand:  where possible, use STATA to check your work)


3.




8.

10.






16.

22.

41.

42.


44.




50.




52.

53.

Practice for the exam:

A population parameter you are studying has a mean of μ = 6.0 and a standard deviation of σ = 2.0.

A.)  What is the z-score for person 16, with a score of Y16 = 3?

B.)  What percent of the population has a higher score than person 16?  (Refer to page 668, and assume that the population parameter is normally distributed.)

C.)  What is the expected mean, standard deviation, and standard error of a sample of size 100, drawn from the above population?

D.) When you take one sample of size 100, the sample mean is Ybar =  5.7 and the sample standard deviation is s = 2.2.  If you were working only from this sample, what would be your estimate of the standard error?

Here is an estimator for the confidence interval of a population proportion:
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Question:  “Are there any circumstances under which you would support the death penalty?”

Sample size = 100 respondents, with 70 ”yes” responses. 

For a 95% interval, use z = 1.96.

E.)  Estimate a 95% confidence interval for the proportion of “yes” responses in the following case. 

F.)  Explain your result as if you were explaining it to an educated person with no statistical background. 
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